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1. Rajesh has a container which has a mixture of wine and water in it. Wine and water are 1 point
in the ratio 4:1. Rajesh spills some of the mixture by accident. He then replaces the spilled
amount with water of same quantity. But now the wine to water ratio became 3:2. How

much water did Rajesh add? *

a. 3/5

b.1/2

@ c.1/4

d.2/7


https://www.google.com/url?q=https://youtu.be/NVahA5gJBHY&sa=D&source=editors&ust=1634485400263000&usg=AOvVaw0Sp81fimN_N87NODNZr7Cq
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2. A milkman had water and milk mixture in a can with water to milk ratio 5:7. He 1 point
accidently spills 9 liters of the mixture. He then fills the can with water equal in quantity

to spilled mixture. This makes the water to milk ratio 9:7. How much milk did the can

initially have? *

@ a. 21 liters

b. 24 liters
c. 16 liters

d. 20 liters

3. Sunil started a juice (lemon syrup + water) counter. Initially he had 140 liter juice which 1 point
had 30% water in it. He sold 20 liters of the juice. Then he added equal amount of lemon

syrup and water. Now the ratio of water to lemon syrup became 1:2. How much water

was added later on? *

a. 9 liters

@ b. 12 liters

c. 14 liters

d. 20 liters



4 One can is completely filled and contains 100% water. Another similar can is completely 1 point
filled with a solution of 50% wine and 50% water. When both the cans are emptied in a
steel vessel, what will be ratio of water to wine in the vessel? *

5.Ramesh mixes 60 litres of Type-1acid with some litres of Type-2 acid. Type-1acid rate 1 point
is Rs. 32 per litre while Type-2 rate is Rs. 23 per litre. Ramesh sells this acid-mix at rate Rs.
28 per litre. How much Type-2 acid is needed to make it a no profit no loss transaction?

@ a. 48 litres

b. 36 litres
c. 24 litres

d. 50 litres

6. Rice and wheat are in a mixture in the ratio 5:3. If 16 kg wheat is added to this mixture, 1 point
the ratio of rice to wheat changes to 5:7. How much wheat is in new mixture? *

a. 21 kg

@® b.28kg

c. 42 kg

d. 35kg



7. How much milk should be added in a milk solution to make milk quantity in it 75%, if 80 1 point
L of milk solution has 45% milk in it? *

@ a. 96 litres

b. 75 litres
c. 30 litres

d. 110 litres

8. In a mixture of 90 L the ratio of acid and water is 2 : 1. If the ratio of acid and water is to 1 point
be 1: 2, then the amount of water (in litres) to be added to the mixture is? *

a. 20L

b. 40L

@® c.90L

d. 100L

9. If 500 gm of salt solution has 30% salt in it, how much salt must be added to make the 1 point
concentration of salt 50% in the solution? *

@ a. 200 gm

b. 100 gm
c.90 gm
d. 50 gm

e. None of these



10.A container contains 40 litres of milk. From this container 4 litres of milk was taken out 1 point
and replaced by water. This process was repeated further two times. How much milk is
now contained by the container? *

A. 26.34 litres

B. 27.36 litres

C. 28 litres

(® D.29.16 litres

11. A jar full of whisky contains 40% alcohol. A part of this whisky is replaced by another 1 point
containing 19% alcohol and now the percentage of alcohol was found to be 26%. The
quantity of whisky replaced is: *

1/3
@® 23
2/5

3/5

12. In what ratio must water be mixed with milk to gain 16% on selling the mixture at cost 1 point
price? *

@A.1:6

B.6:1
C.2:3

D.4:3



13. Find the ratio in which rice at Rs. 7.20 a kg be mixed with rice at Rs. 5.70 a kg to 1 point
produce a mixture worth Rs. 6.30 a kg. *

A1:3
@ B.2:3
C.3:4

D.4:5

14. In what ratio must a grocer mix two varieties of tea worth Rs. 60 a kg and Rs. 65akg 1 point
so that by selling the mixture at Rs. 68.20 a kg he may gain 10%7? *

@® A3:2

B.3:4
C.3:5

D.4:5

15. The cost of Type 1rice is Rs. 15 per kg and Type 2 rice is Rs. 20 per kg. If both Type 1 1 point
and Type 2 are mixed in the ratio of 2: 3, then the price per kg of the mixed variety of
riceis: *

@ A.Rs. 18

B. Rs. 18.50
C.Rs. 19

D. Rs. 19.50



16. . A merchant has 1000 kg of sugar, part of which he sells at 8% profit and the restat 1 point
18% profit. He gains 14% on the whole. The quantity sold at 18% profit is: *

A. 400 kg

B. 560 kg

® C.600kg

D. 640 kg

17. In what ratio must tea worth Rs. 9 per kg be mixed with tea worth Rs. 14 per kg so that 1 point
the resultant mixture costs Rs. 10 per kg? *

3:2

2:3

18. In what ratio must water be mixed with milk worth Rs. 12 per litre so as to producea 1 point
mixture worth Rs. 10 per litre? *

1:4

1:3

34



19. @3l@I6)6MEI@B. 85 ag)iM@) 100 Qil3POB@AlH:BL6)S@I @3
Qileedl©6)6)qSISIENS, BRI @ BIGDI @1RHENVBHT| B0 630} B !Wo 396D
©al6Ndd35l8600 50 P 9o RIEl)3, 6aleMB:35le:816S ag)elRo S66N3OTORE:. *

20

@ 30

50

60

20. ald@B GO @BMII@OTILINE HQUSBO T HHRIGEOMENZ®. 40 ©}al
Mee6)l@3 6303 &l (U3l@o O@aldBlafleedm. 1noriay 30? *

1:3
3:5

5:3

a3l

DD O88SH6)0 Google NS4 @I @RUE@] 4 e @E).

1 Gato@lag’

1 @atolag’


https://www.google.com/forms/about/?utm_source=product&utm_medium=forms_logo&utm_campaign=forms

